

PO No. 4500093047

Date: 09/05/2017 Page 1 of 6

Ship To:

POLICE-DATA SERVICES 1401 BROADWAY San Diego CA 92101-5710 Bill To:

CITYWIDE OTHER/SPECIAL FUNDS 202 C STREET SAN DIEGO CA 92101 Billing Contact: ROBERT SILBAUGH

Telephone:

E-Mail:rsilbaugh@sandiego.gov

Vendor: Dimension Data North America

11006 Rushmore Drive Suite 300

Charlotte NC 28277

Terms:

within 30 days Due net

Delivery Terms: FOB Destination

Buyer: Susannah Shoaf

Telephone: 619-236-6190

Vendor ID: 10037087 Telephone:858-427-2651 E-Mail: Kevin.ross@dimensiondata.com

-Mail: SShoaf@sandiego.gov

Line#	Item ID/Description	Del.Date	Quantity/UM	Un	it Price	Exten	ded Price
1	Dimension data chassis Dimension Data, for network routers and switches PRICE QUOTATION NAME ASR1001X REV 1 QUOTE #2271748.1	06/30/2018	1 EA	USD	6,970.00	USD	6,970.00
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	540.18
2	Dimension data Cisco BASE license Dimension Data, for network routers and switches	06/30/2018	1 EA	USD	2,050.00	USD	2,050.00
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	158.88
3	Dimension data Cisco DRAM Dimension Data, for network routers and switches	06/30/2018	1 EA	USD	4,510.00	USD	4,510.00
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	349.53
4	Dimension data Cisco port license Dimension Data, for network routers and switches	06/30/2018	1 EA	USD	2,870.00	USD	2,870.00
	DELIVER TO: 1401 BROADWAY						
Notes: T	The Terms and Conditions of this Purchase Order are av	railable at http://sandiego.	gov/purchasing/	SE	EE LA	ST P	AGE
_	IMPORTANT!				FOR ⁻		
Lo ensu directed	ire prompt payments, PO # must appear on all sh to <i>Billing</i> Contact person at <i>Bill-To</i> address listed	ipments and invoices; above	all invoices must be				



PO No. 4500093047

Date: 09/05/2017

Page 2 of 6

Line#	Item ID/Description	Del.Date	Quantity/UM	Un	it Price	Extend	ded Price
	SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	222.43
5	Dimension data upgrade license	06/30/2018	1 EA	USD	8,569.00	USD	8,569.00
	Dimension Data, for network routers and switches						
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	664.10
6	Dimension data BASE license Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	250.80	USD	501.60
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
7	Dimension data port license Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	351.12	USD	702.24
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
8	Dimension data Cisco upgrade license Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	1,048.04	USD	2,096.08
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
9	Dimension data Cisco chassis crypto Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	852.72	USD	1,705.44
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
10	Dimension data Cisco transceiver module	06/30/2018	2 EA	USD	205.00	USD	410.00
Notes: Ti	he Terms and Conditions of this Purchase Order are av	ailable at http://sandiego.	gov/purchasing/	SI	EE LA	ST F	PAGE
	IMPORTANT!			┪	FOR		



PO No. 4500093047

Date: 09/05/2017

Page 3 of 6

ine#	Item ID/Description	Del.Date	Quantity/UM	Uı	nit Price	Exten	ded Price
	Dimension Data, for network routers and switches						
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	31.7
11	Dimension data Cisco nexus bundle Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	26,650.00	USD	53,300.0
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	4,130.7
12	Dimension data power supply module Dimension Data, for network routers and switches	06/30/2018	8 EA	USD	1,435.00	USD	11,480.0
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	889.7
13	Dimension data Cisco series 48 port Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	18,040.00	USD	36,080.0
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	2,796.2
14	Dimension data Cisco series 48 port Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	18,040.00	USD	36,080.0
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	2,796.2
15	Dimension data Cisco LAN licenses Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	20,500.00	USD	41,000.0
otes: T	he Terms and Conditions of this Purchase Order are a	vailable at http://sandiego.	gov/purchasing/			OT:	
	IMPORTANT!			S	EE LA		
	re prompt payments, PO # must appear on all sh to Billing Contact person at Bill-To address listed				FOR	IUI	AL



PO No. 4500093047

Date: 09/05/2017

Page 4 of 6

_ine#	Item ID/Description	Del.Date	Quantity/UM	Un	it Price	Exten	ded Price	
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101							
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783							
	Non-Deductible Tax					USD	3,177.50	
16	Dimension data software app support Dimension Data, for network routers and switches	06/30/2018	4 EA	USD	1,520.00	USD	6,080.00	
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101							
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783							
17	Dimension data Cisco nexus 7706 bundle Dimension Data, for network routers and switches	06/30/2018	4 EA	USD	7,272.44	USD	29,089.76	
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101							
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783							
18	Dimension data Cisco nexus 9300 Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	9,225.00	USD	18,450.00	
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101							
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783							
	Non-Deductible Tax					USD	1,429.88	
19	Dimension data Cisco nexus network svs Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	1,435.00	USD	2,870.00	
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101							
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783							
	Non-Deductible Tax					USD	222.43	
20	Dimension data LAN enterprise license Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	3,280.00	USD	6,560.00	
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101							
lotes: Ti	he Terms and Conditions of this Purchase Order are av	ailable at http://sandiego	gov/purchasing/	SI	FFΙΔ	ST I	PAGE	
IMPORTANT!					SEE LAST PAGE FOR TOTAL			



PO No. 4500093047

Date: 09/05/2017

Page 5 of 6

Line#	Item ID/Description	Del.Date	Quantity/UM	Un	it Price	Exten	ded Price		
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783 Non-Deductible Tax					USD	508.40		
21	Dimension data Nexus 9300 Dimension Data, for network routers and switches	06/30/2018	4 EA	USD	903.64	USD	3,614.56		
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101								
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783			_					
22	Dimension data Cisco optional crypto Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	43,460.00	USD	86,920.00		
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101								
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783								
	Non-Deductible Tax					USD	6,736.30		
23	Dimension data advanced IP svs license Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	4,100.00	USD	8,200.00		
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101								
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783								
	Non-Deductible Tax					USD	635.50		
24	Dimension data Cisco crypto module Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	2,050.00	USD	4,100.00		
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101								
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783								
	Non-Deductible Tax					USD	317.75		
25	Dimension data Cisco crypto license Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	6,150.00	USD	12,300.00		
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101								
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783								
Notes: Th	he Terms and Conditions of this Purchase Order are av-	ailable at http://sandiego.	gov/purchasing/	SI	EE LA	STI	PAGE		
IMPORTANT!					SEE LAST PAGE FOR TOTAL				



PO No. 4500093047

Date: 09/05/2017

Page 6 of 6

Line#	Item ID/Description	Del.Date	Quantity/UM	Un	it Price	Exte	ended Price
	Non-Deductible Tax					USD	953.25
26	Dimension data Cisco advanced IP svs Dimension Data, for network routers and switches	06/30/2018	4 EA	USD	501.60	USD	2,006.40
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
27	Dimension data Cisco ASR1002-HX cry Dimension Data, for network routers and switches	06/30/2018	4 EA	USD	250.80	USD	1,003.20
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
28	Dimension data Cisco crypto throughout Dimension Data, for network routers and switches	06/30/2018	4 EA	USD	752.40	USD	3,009.60
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
29	Dimension data Cisco ASR1002-HX system Dimension Data, for network routers and switches	06/30/2018	4 EA	USD	5,316.96	USD	21,267.84
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
30	Dimension data cisco transceiver module Dimension Data, for network routers and switches	06/30/2018	2 EA	USD	205.00	USD	410.00
	DELIVER TO: 1401 BROADWAY SAN DIEGO CA 92101						
	Contact, Paul Rising, 619-533-4872 Rick Bollinger, 619-533-4783						
	Non-Deductible Tax					USD	31.78
Notes: Th	ne Terms and Conditions of this Purchase Order are av	railable at http://sandiego.	gov/purchasing/				
	IMPORTANT!		. .	Line I Tax	tem Total S	S	414,205.72 26,592.54
To ensure	e prompt payments, PO # must appear on all sh b Billing Contact person at Bill-To address listed	ipments and invoices;	all invoices must be	PO To		5	440,798.26